Joints for Factory Frames

Part Number [MMaterial
FFB1, FFB2 EN AC-46100 Equiv.
FFB3~FFB5 EN AC-46100 Equiv.

Reference Tightening Torque: 6.8N/m

(®)The shape of FFB3 ~ FFB5 may be partially altered for product improvements.

FFB2
408 _ 388 _ s
[N A@L,,o]
[ ===

38.8 51.5 388 Mo

)
3
70 B gfz{ = ) 8] 1
g = 7}
o H H 255
Part Number Mass Included Screw and Nut oo
Type No. (9) Size Quantity i D
1 88 2
2 168 M5-18
3 172 4
FFB 4 92 M5-15
M5-20 2
5 145 M5-25 1
M5 Nut

-
=
Part Number | @MMaterial
FFB11~FFB15 JEN AC-46100 Equiv.
Reference Tightening Torque: 6.8N/m
FFB11 FFB14
25
25
s EL,, 30
457 & 255
9]
25 K
62.75 [23]
v &

P Part Number | MMaterial
L FFB6~FFB10 JEN AC-46100 Equiv.
R Reference Tightening Torque: 6.8N/m
h (®The shape may be partially altered for product improvements.
FFB6 FFB7 FFB8 FFB9 FFB10
M5 06.5 “30 75 30.7? } = 81 82 F‘SJ‘E 38.75 s
G 13 | T 2 [T -
2512 i N 7 | 1 b
M5 E—— M
‘5 378 o 20 ﬁ’ TT - ﬁ’ 25| 30 Qgem% %\( ﬁ |
- = e N7 — AR L=
WO DG B e iy
! ' N - N R = ©|
— 40 ] 25
:Qa M5-12 5‘\‘ 2 % : 217“ i’w 3 | w ——gi
30812 &2 65 ]
s
e
> 4/ -
9 ,“L «@
, o A
&8 l ‘ /<
= i
- Pats - >
I -
Part Number Mass (g) Included Screw and Nut Unit Price @ - (SET)
Type No. Size Quantity Alterations’ FFB9 - SET
6 35 M5-12 1
7 80 2
FFB 8 84 G 1 Alteration Code Spec.
9 110 .
2 Include 4 set screws (M4-6) with FFB9 as a set.
10 1245 SECSC el SET (®Applicable to FFBY only.

Part Number Mass Included Screw and Nut . .
Type No. (9) Size Quantity ChIB D
11 250 M5-18 1
M5-20
2 8 M5 Nut
M5-20
FFB 13 88 V5 Nut 2
14 35 M5 Set Screw 1
M5-18 3
15 140 M8-35 7
7 Ordering Part Number
Example FFB1
ex Example
Skid Cover, HSCY5 FFB3

FFBI3
i FFB14




